t

ESIETE
QAR HAN S (UVTTHY /AL HE)
=EL]

g Al

CB SR (B) - KIRAY - BES il 2
= 3,964,314 4,077,362 A 113,048
= 30,569
< 24,960
Al 3,908,785
FTRANH MEAXN S5 (LS IHF/ABEHFT) 934,509 771,709 162,800
=) 934,509 771,709 162,800
dg= 934,509 771,709 162,800
201 Let24d] 844,809 733,209 111,600
01 At 22l 789,480 681,480 108,000
O&EUME 152 12,000& = 1208 » 128 17,280
OAE g2t 300,000& * 803l 24,000
OANHE I8 22l 15,400
—&0a=za 2¢ 100,000& * 404 4,000
— HOVEI Ol = (6012l ) 7 & 25,0003 = 80 2,000
—0VW ¥ CD #¢ 2,500& = 4004 1,000
— AR Qe = 700,000& = 123 8,400
O3 w2k 7 12,800
—XNXHEEH 1185 6,0008 = 1508 » 128 10,800
— JIEt 1,000,000& * 23] 2,000
FRANEZFEE Z20(TV, cttl)
350,000,000 * 14l 350,000
OFQANEERE 212, X 8)
250,000,000 * 14l 250,000
OF2 Ads:e ¢H a2 Na
10,000,000& * 2& 20,000
OGFAE AHUNZ & rA ZEHMH
50,000,000 * 14l 50,000
OUEZ Al Al OI0IX &2
50,000,000 * 14l 50,000
02 =224l 55,329 51,729 3,600
OAJEOIAH MEE
151,800& = 200HOH A = 128 36,432
ONLE(Z & B A EH]) SXIHl 400,000 * 63 2,400
Oz E2L2LIH R+
300,000& = 123 3,600
Ogs&H |l 11,897
— S&J17I 140,000& * 20K 280
— Jthilct 50,000& = 504 250
—SEANE S 148,000& * 60K 888
—HICIt0l2 (&)
25,240,000% = 20H = 3/100 1,515
— HICI23t0 2k (th)
130,000,000& =+ 2CH = 3/100 7,800
— OXE JtHiet  2,990,000& * 2CH = 3/100 180
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2N 22l
M FQAM AN 2P (UUDDUT/AUHET)
chelr NEER CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— 398 Sl 5,800,000& * 3/100 174
—HIOUQLEZHME 27,000,000 = 3/100 810
OAdEH 2= 1,000,000 = 14 1,000
203 YR =2t 5,000 5,000 0
03 Al =AY 2= 5,000 5,000 0
OFQANH 28 ARE7Y|
5,000,000& * 14! 5,000
301 et A=z 5,000 0 5,000
10 HALAHI 242 5,000 0 5,000
OANCIHUIIX &5 L4kl 5,000
—FHN ¥ EA2 100,000& * 30A 3,000
— 29 ¥ FFE L 2,000,000 * 14 2,000
307 2201 A 30,000 30,000 0
02 plZtF A2 X 30,000 30,000 0
OZFMA=2EES=2X&  30,000,0008 = 1A 30,000
405 XHoHF S HI 49,700 3,500 46,200
01 et EZF S 49,700 3,500 46,200
OsZazE UXNEIIMt & FUHEH 2 37,000
— CIXIE 3t0il 2t (body) 5,000,000& = 1CH 5,000
— Ittt e=(68 1HE)
18,000,000& * 1M E 18,000
— 25 FH4| 14,000,000& = 1M E 14,000
OZFH & 2UH FL(NIEEHE)
3,000,000 = 14 3,000
OCIXIEJtnet & elx W+ 9,700
— CIXI € 3t 0l 2t (body) 7,500,000& * 1CH 7,500
— JtHiet &l =(24~70mm) 2,200,000& » 104 2,200
HESIA (LS THE/UYBEA) 1,953,204 2,498,286 A 545,082
= 30,569
< 24,960
Al 1,897,675
HEY B3 =2 1,668,223 2,127,773 A 459,550
= 20,009
Al 1,648,214
HYMA 22l KA 821,571 1,072,005 A 250,434
201 Let2d]| 715,342 826,258 A 110,916
01 At 2teltl 26,000 35,000 A 9,000
Odiold A olg=Z=2 088 44 2
25,000,000 = 14l 25,000
OHZFZEANALH SERANES A=
1,000,000 = 14 1,000
02 23=24gHl 689,342 791,258 A 101,916




2A: EE2I|8E
H: HEAY (LB THY /U E)
o2 Y 23 =X (SH2:EH)
2A-F3H-H2A(3) - MY - BES Of] Ak %Ei Hns2Z
OQEY A3 AIS2 231,000
-2 (2L :5M) 1,500,000® * 128 18,000
—ANEEAHZ (A2 :2M)
1,100,000® = 128 13,200
— &P AL A, SHS(MSPPY)
450,000 » 373 & * 128 199,800
OXMY AIBZ 5,400
—WE2R B2ASA QAHUARS
30,0008 = 134 » 12€ 360
— St =C AIRA QIEUAES2
30,0008 = 13| & = 12€ 360
—OIXS BAHE OIYE ABHYAE2
30,0008 = 134 = 12¢ 360
— 9= A SYACEHMEH AHUWAR
30,0009 = 13 & @ 128 360
—ALXMNY SEUST AHYWARE
30,0009 * 13/ & « 12& 360
— AN HEA AHUYAMEE
30,0008 * 13|14 » 128 * 2) A 720
— HHIE oA AHYWAIRE
30,0008 = 134 = 12€ 360
—2AA O A QIHYWAIRE
30,0008 * 134 * 12¥ 360
— 2402 2ZoUA QEYWAISE
30,0008 * 1314 » 128 * 2) A 720
—ANEEAZ G4 QAEUAS2
30,0008 = 134 » 12¢ 360
— =0 EJERA QAEUAE2
30,0008 = 13| & = 12€ 360
—OlXIS MADINEE AEHWAIS
30,0008 = 1§|& « 12€ 360
—BA0I5E A QHUWAIZR2
30,0008 * 134 * 12¥ 360
OXNSHBHE(ZTUHEZOIEAIL)SA ARE
100,000 * 128 * 1742 20,400
O#MFHS 220l SMS &= 2 (UMS)
2591 * 40,000 * 129 12,000
OAFOIBIAIR! SMS H& 2
2521 x 100,000 * 43| 10,000
OZ2Hel S Z(LAN) HEX
500,000 * 5JH A 2,500
OQHY T It E & Jpely| 4,356
—gezu 30,0009 » 332 990
— 20 99,0008 * 24 2,376
- S0 s=y 98,0009 * 52 990
Od8stE Al8E 170,0002 * 12& 2,040
OADIEE SEZHAFMHIA 3l& AE2
73,0008 * 404 = 12€ 3,504
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2N 22l
M. HESIAIY (L2 2N /BN )
ool WN FPE =X
(o
SN ED B (3H) - MEAY - BAS ol &k o8 %@ﬁ
ONEZUSAU(ANAY SEIA22) 398, 142
— SIS0l KX 4 224,268
CET 2 M Al AE
191,800,000 = 7/100 = 1.1 14,769
cEX22, TAHEEE SEAH
188, 159,000& = 7/100 *1.1 14,489
cEX2e] AEAAE(KLIS) APAH
109,273,000 = 7/100 = 1.1 8,415
< OIAH A H 5,500,000 = 7/100 * 1.1 424
- EHOIXNS %g} M H
210,087,000& = 7/100 * 1.1 16,177
RS S AIAE
16,400,000 * 7/100 = 1.1 1,263
- DNS 22l A H
18,300,000 * 7/100 = 1.1 1,410
M AME 2|0 Al AE(UMS)
28,300,000& = 7/100 * 1.1 2,180
CHATE AAX SR AIAE(DR)
205,930,000&¢ = 7/100 * 1.1 15,857
- Qa0 IELC|AIZ K EH|
111,682,000 = 7/100 = 1.1 8,600
QP SE WAAAH
57,232,700 = 7/100 *1.1 4,407
HHAHE Sg AELX
250,000,0002! * 7/100 * 8/12 * 1.1 12,834
CHENY HMKE SR
274,275,000 = 7/100 * 1.1 21,120
SEUAAY Za
132,660,000 = 7/100 * 8/12 =1.1 6,810
CEANEE 01E5 MR
136,000,000 = 7/100 = 1.1 10,472
cHER3 &
542,070,910 = 7/100 * 1.1 41,740
- HERKT ZHI[BHEAIAE(2011.58€ P04
)] 129,559,090 = 7/100 = 9/12 » 1.1 7,483
YRR EY S HEE
30,250,920 = 7/100 = 1.1 2,330
HHHEAU ASSEH (SHSVPN)
71,500,000€¢ = 7/100 * 1.1 5,506
HH™BO oSS AH|(=2HVPN)
63,818,000 = 7/100 * 1.1 4,914
AN MR (L4)
70,410,000€¢ = 7/100 = 1.1 5,422
SHMMEAZZEIIUPS(30K, 50K)
56,268,000 = 7/100 * 1.1 4,333
Mara HAEIIA S ASHD|
17,348,000 * 7/100 = 1.1 1,336
M S 2EED|
56,665,450 = 7/100 * 1.1 4,364




fN: BEI2E
M YESAY(LNBTHT/LNHT)
Sl ¥E HEE =X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- dAabA CCTV AIAE
18,273,000& * 7/100 * 1.1 1,408
YN E
64,132,000& = 7/100 * 1.1 4,939
M Z2A XN AL & A
28,181,000& = 7/100 = 7/12 = 1.1 1,266
—ATEQON RAZ=H 37,104
HEXN B A2 0AIAE(UMS)
46,500,000& * 7/100 * 1.1 3,581
-HAN T2
12,000,000& = 7/100 * 1.1 924
- Al EHOIX
99,000,000& * 7/100 * 1.1 7,623
- SOl Xl DBMS
8,727,000& = 7/100 » 1.1 672
SN ZN ZE20
130,464,810& = 7/100 » 1.1 10,046
- 8XZTH DBMS
37,750,000& = 7/100 * 1.1 2,907
- EXI 22| AIAE DBMS
37,750,000& = 7/100 * 1.1 2,907
-UESIZ IP 22l S/W
26,655,000& * 7/100 * 1.1 2,053
FSHEAIAE S/W
29,000,000& = 7/100 * 1.1 2,233
S CIPYEN!
14,000,000& = 7/100 * 1.1 1,078
ANgoa SSEZAAH
2,800,000& = 1.1 3,080
— BotEHl R4 136,770
-UHESRIT HHoIA AT EAIAE
48,000,000& * 7/100 * 1.1 3,696
ER= I 80,091,000& * 7/100 * 1.1 6,168
HEFHEY L3t
103,507,000& * 7/100 = 1.1 7,971
Mo 25t
27,000,000 = 7/100 1.1 2,079
- 2RY HUYTAAHIPS
35,775,000& * 7/100 * 1.1 2,755
-UESRT E2 T AIAENAC
99,300,000 * 7/100 * 1.1 7,647
- CIOIE HIOl A2 QA A EL
101,045,000& * 7/100 = 1.1 7,781
BRI (USB) ZHAIAE
55,800,000 = 7/100 * 1.1 4,297
- DX, Rrab2el AlAEH(PCE o)
46,400,000 = 7/100 * 1.1 3,573
-ESYHAZTEYN MHAAE
39,000,000& * 7/100 * 1.1 3,003




2N 22l
M JESANG (L SSHEY /YY)
Sl ¥E HEE =X CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
EUE XA AE
15,700,000& * 7/100 * 1.1 1,209
- EHO0IXN ¥ ZHAAH 2ot
27,000,000& * 7/100 * 1.1 2,079
CHEYRY FUYKAAY
72,994,000& = 7/100 * 1.1 5,621
QIR HAXEAIAY
33,000,000& * 7/100 * 1.1 2,541
NERELYXNAIAEH
70,548,000& = 7/100 * 1.1 5,433
S M oAl AR
89,500,000& = 7/100 * 1.1 6,892
ST AIAE (H/W)
146,973,000& = 7/100 * 1.1 11,317
ST AIAE(S/W)
165,700,000& = 7/100 * 1.1 12,759
- SEEo2HIAIA & (DBMS)
50,000,000% * 7/100 * 1.1 3,850
- MOIHEHH S AIAE
234,250,000& = 7/100 * 1.1 18,038
- 2|22 DDoS BA XtEHAIAE
49,500,000 = 7/100 =* 1.1 3,812
- LIS 2 DDoS A XHEHAIAE
48,000,000% * 7/100 * 1.1 3,696
- QY RAHE LB (AIOIE) RESHAIAE
42,909,090% * 10/100 » 7/12 = 1.1 2,754
CEHOIX BHAE 24 AAH
52,600,700& = 7/100 = 10/12 * 1.1 3,376
iR BS AAE
68,918,182& * 7/100 » 10/12 * 1.1 4,423
403 XAXISH M S X201 A 106,229 245,747 A 139,518
02 SJ12S0ll CH &HCH & AF 2 HI 106,229 245,747 A 139,518
OHFEE MuEH slE+ & 2SN
995,915,719% * 7.1/100 70,711
OXNETHH 2AANAE (e-S X)X 2]
20,518,000& * 14l 20,518
OZEZs0t2 SHOIK A¥2H MHEAY
15,000,000& * 14l 15,000
HArEH B3 764,200 962,910 A 198,710
201 £B-2%| 31,200 32,910 21,710
01 At 22l 31,200 32,910 21,710
OYRELTEYH 2L 31,200
— 8= 100,000& = 40user 4,000
—MS 21U & 250,000& = 40user 10,000
—gEX 30,000& = 100user 3,000
— TEY 1,100,000& = 5user 5,500




2N
X ZH -
L= B
el

ESIETE
BOAY (LB DIYT /L)
3 m9s =

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—QEHE 1,500,000& = 5Suser 7,500
—LEMNE MEAIEHE 14
240,000& = buser 1,200
207 A RO H| 100,000 145,000 A 45,000
02 ™ AR 2] 100,000 145,000 245,000
OHEALE 0B 653 AH(BY B3 22M)
100,000,000& * 14 100,000
405 XHobE S HI 633,000 785,000 A 152,000
01 AL EFH S 633,000 785,000 A 152,000
OFE0IT0 EFHI AlAE
25,000,000 * 14 25,000
O#HIYZ LS5t &l (VPN) Xl
25,000,000& * 14 25,000
OARX BHAAAE 0153 25
20,000,000 = 14 20,000
OREH MJAFX(UPS) +¢
50,000,000& = 14l 50,000
OAEZt 2B ESHY dE5FHl A
125,000,000& * 14l 125,000
O2& ANgA . S8s UWERT AAX WA
4,000,000 * 2000 & 80,000
OgeE datEd 2 308,000
—da2as 1,000,000& * 200CH 200,000
— 2LUH 400,000& = 250CH 100,000
—LES(ZMYRESE) 1,600,000 * 5CH 8,000
NAZEs =8 14,595 19,275 AN 4,680
201 LBH2E| 13,595 17,275 A 3,680
01 At 22l 13,595 17,275 A 3,680
OZFRZAHEEsHE FAUH 1,005
— F2AEH =M 45,0008 * 5= + 13 225
S EEERE
15,000& * 2A12F = 68 » 13 180
—MHE=E 20,000& * 51t= * 13 100
—alZas 2 100,000& = 504 = 13l 500
OXNIAZE3S WM
10,000& = 188 » 23& 4,140
OCHAFEE W=s A=
30,000& = 10Al2t = 187] 5,400
Ouns A2 3l 100,000& * 108 1,000
OEESWSE A8 4| 2,050
—Z2lH EY 200,000& = 13| = 2CH 400
—ZFH =2 50,000& = 23CH 1,150
—HIEIZME 2¢| 500,000& = 1CH 500
303 Z& =3 1,000 2,000 A 1,000




2N 22l
M JESANG (L SSHEY /YY)
ool #E ¥P5 =X CER-ED
= (o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 L& 3 1,000 2,000 21,000
OSF2TFHEESE JdUa 2=
1,000,000& * 14l 1,000
NYHHBEHZAAEXA(R) 67,857 73,583 N5,726
= 20,009
Al 47,848
201 L2l 67,857 73,583 N5,726
= 20,009
Al 47,848
01 At 22l 67,857 73,583 N5,726
OANZFHEIZFZANLAE “SZH WA
50,063,000 * 14l 50,063
= 15,984
Al 34,079
OANZRATHHERAIAE S AL
17,794,000& * 14 17,794
= 4,025
Al 13,769
NSEES =& 284,981 370,513 A 85,532
= 10,560
< 24,960
Al 249,461
SHOIK 24 146,084 245,476 A 99,392
201 Yet2 | 46,084 35,476 10,608
01 At 22l 30,000 23,000 7,000
OEHOIXl pCcEOIZZ )84
10,000,000& * 14l 10,000
ORHILEHOIX HAIE HRMY FHEZ]
= 20,000,000& * 14l 20,000
02 3323l 16,084 12,476 3,608
Oelz3E2dM T2 2loldA AEE
2,500,000 * 14l 2,500
OZHOIX 28t & AHZcAHolE A2=
1,000,000& * 14l 1,000
ORb8IY EHOIX 22& ADEIDI MEE
70,000& « 123 840
O2utg & QAR EHOIX FXE (2
&) 107,809,700& = 14/100 = 2/12 * 1.1 2,768
OZHOIX AHOIE AAEZ 60,0008 » 12 720
OZMHIOIXI JIs=t 400,000& = 103l 4,000
OZHOIX HABEXHAIAE SN2
18,997,000& = 13/100 * 1.1 2,717
Od Z28 A& ANAEH RXE=>
15,543,000& * 9/100 * 1.1 1,539
207 A RO 70,000 145,000 275,000
02 & AR I 70,000 145,000 275,000




2N 228
H: FESAMY (LSS /YY)
@ XNFFEs =8 (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSNS Z28I= g & 29
25,000,000& * 14l 25,000
OZMHOIXl EHIOIEIHIOIA(DB)LSSAIAE
45,000,000& = 14! 45,000
405 RHoHE S HI 30,000 65,000 A 35,000
01 et EZFH S 30,000 65,000 A 35,000
OZHe SHOIX IIEE EAIAY A5
30,000,000& * 14l 30,000
AMIEESH AHY F& 15,005 17,145 A2,140
201 ¢er2d] 13,955 16,445 A 2,490
01 At 2t 2/l 13,955 16,445 AN 2,490
OANFES W=
10,000& » 128 » 23& 2,760
OAMEIEEs e 2AE
30,000& = 20Al2t = 127] 7,200
OFUFZB0EANE s W
10,000& » 28 = 17004 340
OFLUFZB0EANE A2 =4t 3,655
—Z2H EYH 100,000& * 13| » 1744 1,700
—Jilg ARE3Hl 50008 * 38 « 170HA 255
—dFH =d 100,000& = 1702 = 50% 850
— ZEH =2l 100,000& = 17JH2 = 50% 850
301 et a = 1,050 700 350
10 AtAHIE A3 1,050 700 350
O ZE=23t &otg =M &4 ol
70,000& = 10¥ * 1 = 13 700
OZESMAE d30Ha HFA 0HI
70,0003 = 5% + 1 » 13l 350
2302 T2 22 X(=) 33,432 30,432 3,000
= 10,560
S 5,060
Al 17,812
307 glz2tol & 33,432 30,432 3,000
= 10,560
< 5,060
Al 17,812
02 RIZHE A E X 33,432 30,432 3,000
O3Es0tg T2 0gaelh 29
18,573,330& * 2% * 90/100 33,432
= 10,560
< 5,060
Al 17,812
FE0SAE XN (%) 63,700 63,700 0
< 18,900
Al 44,800
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4,000
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3,000
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2,000
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63,000
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3,240
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12,160
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2,800
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()

>0 (fon
12 M H
o o Y
FO > o
for [ gm
10

e

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o gﬁ‘&i HRE2
02 QI2tAAME X 2,500 0 2,500
O&FES0IS 3246 EH 33|
2,500,000& = 14l 2,500
& 1,000
Al 1,500
M| (LEt2 2SN /B A) 927,595 694,035 233,560
Ealze 927,595 694,035 233,560
SAl 22 427,955 499,395 NT1,440
201 gEt24y| 307,155 289,645 17,510
01 AP 22| H| 22,160 24,160 A 2,000
O™ NIHS HE M2 1,000 = 1,500 1,500
OMNESHZEAI S82ES AEIH HE
500,000& = 13| 500
OSHS AMYA AIRA Z2XIHFW OE ol
A x| Hl 300,000& = 2000 & 6,000
OFUHSASHIE AU (=T A A SFHAS A
At 018k A) 500,0008 * 4004 2,000
OIPWED| HIZHE PA(IASMILE 2)
5,000,000& * 20K 10,000
OBAMNAESI EH 7¢
45 000 * 404 = 12€ 2,160
02 2324 284,995 265,485 19,510
O&zae datz 10,000,000& = 12&€ 120,000
o=ttt Mgtz 500,000& » 12€ 6,000
OANUHEE2IHE ANE2E
25,000 = 1003l ~ 12€ 30,000
OANAXEINH AIE2ES 5,000,000& = 12& 60,000
OsUHEs AMl2s 100,000 = 6CH * 12& 7,200
OCED|Ite H3H(AS SAR) 1,400
Ha= 8,000& * 50CH 400
—SIIANE dgts 20,000 * 50CH 1,000
Ooolgts 389 36,720
— XTDNSEAMY(AE~EH)
3,000,000& » 12& 36,000
—2HEE= 60,000 = 12&€ 720
OXsA M3twE &X |SAEH
645,978,000& * 1/100 6,460
ONEFEX & FHI|II KALE 4]
56,420,000 = 5/100 2,821
O&3I| |FXE=H|
40,0009 = 400CH = 5/100 800
OBRAIEED| X244
1,300,000 * 404 = 5/100 260
OEgds Mt A2 4H|
14,000,000 = 5/100 700




SN ERIIEY
HH: SUO(YUDDHE/AUHE)
ol SABE (SHol: @)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
Od=s0sEs X |RAE=H
14,000,000& * 5/100 700
OHISAY MeY SN2l
12,680,000& * 5/100 634
OAMNSHEZAEH wEH 700,000& = 4CH 2,800
O7UEzZ |FXNE= 5,500,000& * 14 5,500
Osda Z&EH |FXNE*
3,000,000& * 14l 3,000
308 XX EHSOIA 16,800 15,750 1,050
05 XX SHM2ARES 16,800 15,750 1,050
Os0E Z2UHILYNY 2=
16,800,000 * 14l 16,800
405 XHAHE SH| 104,000 144,000 240,000
01 XY 2 ZF S| 104,000 144,000 A 40,000
OIPM3I 7 400,000 = 200CH 80,000
OCIp&E =] 7 40,000& = 100CH 4,000
OtiE 2l (UPs, & &DI) 10,000,000& * 24l 20,000
CCTV Se2HEdH 29 499,640 194,640 305,000
101 124 dl 400,000 100,000 300,000
04 JI2ZHHZ2XREES 400,000 100,000 300,000
OJIZHZ2E2XNS E(UsE 122, Al 8¥)
20,000,000& * 20X 400,000
201 LBH2E| 99,640 94,640 5,000
01 At 22l 3,800 1,200 2,600
OLA2 =4t 1,400
— =AM EH 200,000& = 23| = 1CH 400
—PC =2ltl 100,000& * 20CH * 20/100 400
— JIE =2/l 50,000& = 123 600
O2HHEH 29l 200,000& = 12& 2,400
02 22224l 95,840 93,440 2,400
Ozs22= & HMA 95,840
—3d2(8F) 30,000& = 1203l& = 12& 43,200
S Z(ME)  3,300,0008 = 186 » 128 39,600
—dIRea 1,000,000& * 128 12,000
— o= 50,000& = 123 600
—SIMNERES 50,000& =« 23l 100
— &It E T2 60,000& * 23] 120
— &3t E4AE 100,000& * 13/ 100
—REABE 10,000& * 128 120
#H2AAH (2212 E)(OIE/IIE) 149,006 113,332 35,674
Jl23 4l 116,966 113,332 3,634




A ZH (E2II&E)(JIEH/IIEH)
qu

B (BH) - NRAY - By il 2
Jl23l 116,966 113,332 3,634
201 LBH2d| 26,646 23,012 3,634
01 At 2t 2l 26,646 23,012 3,634
O=AERX 7 13,000 » 2284 « 123 3,432
OEZ2 A 6,000 = 64 * 22% = 123 9,504
Ogtx=x2 100,000& * 128 1,200
O27E THFLY 50,000& = 123 600
OAL7 2 =44l 10,590
— SA| =2l (AF) 500,000& = 1.50H 750
— T2l =2l 100,000& * 6CH * 50/100 300
— =AM EH 200,000& = 53] » 1.5CH 1,500
—Z2H EUH(E%) 200,000&8 * 53 * 6CH 6,000
— IZ2E EUd(2ct) 200,000& * 53 * 1CH 1,000
—PC =¢l 100,000& = 22CH = 20/100 440
— JIEt =2l 50,000& = 12& 600
OJIE AFR2t2lH] 5,000& * 229 » 12& 1,320
202 Odl 84,920 84,920 0
01 = LH Yl 84,920 84,920 0
Og&J/188 Z2F& 0ol 84,920
— 2L HI 20,0003 = 22H » 12¢ » 128 63,360
— 220l 70,000 = 22% = 14« 21,560
203 PR =&l 4,200 4,200 0
04 EAN2IHRFEHI 4,200 4,200 0
ORAN2EIRFAHI 350,000& = 123 4,200
204 HR=HAH| 1,200 1,200 0
01 Mg 1,200 1,200 0
ORI RLsAY (222 E)
100,000& » 19¥ » 128 1,200
el 2l 32,040 0 32,040
ol 2AH| 32,040 0 32,040
101 @124 dl 32,040 0 32,040
03 RIAHAZZ2THE 32,040 0 32,040
OCCTVZ2 MY 2tH =& 32,040
—-Jlas 42,4803 * 18 = 250 10,620
— &0z 5,310& » 209AI2t = 400% » 1H 4,440
— ZE S|
5,310& » 209AI2t = 75% = 23] = 1H 1,665
—IJIE+=< (S A) 40,0008 = 1Y + 12€ 480
— 2HItatx g
10,000& = 1H » 104 » 128 1,200




2AH: E2I18E
M HES2GIU(E2IIEE)(JIEHIIE
ool o2y (B9 ®R)
x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-/

NECEERS=:
5,31080 * 13AI2F * 150% * 1Y * 122
suzesy
42,4809 * 150% * 1122 * 1%
FE+g 42,4809 * 527 * 1Y
SEE RN 42,4809 * 1% » 122
CINIRZENSY 42,4809 * 1T * 19
= 100,0008 * 1% * 128
nEH| 44,0002 * 1% = 128

1,243

7,137
2,209
510
808
1,200
528




